INSTALLATION INSTRUCTIONS

ELESAM63-PRO |
Mounting Bracket

IN THESE HOLES

,

P

Prior to assembly, unpack carton completely and > et # \
verify contents. If you are missing any of the
following components, please contact Technical
Support at 1-800-776-5768.

seeeee 11BN

Figure 1

(1) PLASMA STATIC MOUNT BRACKET  (6) 20MM NYLON SPACERS
(4) MOUNTING BUTTONS, BLACK (6) 5/16-18 X 1" HEX HEAD CAP SCREWS
(6) M8-1.25 X 35 MM BUTTON HCS (4) 5/16-18 NY-LOCK NUTS

(1) M5 ALLEN KEY

|| CAUTION: PLASMA DISPLAYS ARE EXTREMELY FRAGILE! ||

READ INSTALLATION INSTRUCTIONS COMPLETELY
BEFORE PROCEEDING

1. Using the 5/16-18 hex head cap screws inserted through the button at a spacing of 14", secure mounting button,
with the ny-lock nuts, to bracket (four places) (See Figures 1 & 2). Tighten securely utilizing a two 4” wrenches.
Place 6 nylon spacers on plasma over mounting threads in plasma (See Figures 3 & 4).

Place plasma bracket on plasma with bent lip towards the plasma (See Figures 3 & 4).

Insert M8 bolts and tighten-ensuring not to over tighten (See Figures 3 & 4).

With the aid of another person, lift Plasma Display up to the Chief Mount, aligning buttons of mounting brackets
with slots in the Chief Mount.

6. Lower safety catch on the Chief Mount to secure Plasma Display, making sure catch is completely engaged.

wbkwn

: _. = 35mm BUTTON HEAD
| i g L £ ‘CAP SCREW

O \_7 | ' 5 .
5/16-18 NYLOCK NUT o
FROM BACKSIDE OF  5/16 HEX HEAD

4 BRACKET CAP SCREW
(—:"::"_‘.:_]
L W

-

£ ' - -
) S
e ‘

A 3
ATTACH BRACKET TO
MSIEIJ']N;(!)I\II\IG PLASMA AT THESE POINTS 20mm SPACER
Figure 2 Figure 3 Figure 4

ol eLECTROGRAPH -

DISPLAY TECHNOLOGY SOLUTIONS Printed in USA 01-03
(800) 776-5768 ¢ www.electrograph.com




